]

ERINZ / Components

No. & FR / Part name

ME / Pcs

#E / Material

- REUIE / Color-Finish

1 kv FHs8— / Top cover

1

ASA#E UL94HB / UV-resistant ASA UL94HB
HIATEABSHEIRE (UL94V-0 E K 5) / Flame-resistant ABS UL94V-0

RIA+J L— / White gray
Fa—)LS L— / Charcoal gray

2 RT4— / Bottom base

ASA#tHE UL94HB / UV-resistant ASA UL94HB
SURMEABSHIEE (UL94V-0 %) / Flame-resistant ABS UL94V-0

RITART'L— / White gray
F¥3—)LY L— / Charcoal gray

3 | TSA2FH/ \— / Blind lids 2 ASA%tHE UL94HB / UV-resistant ASA UL94HB RITARTL— / White gray
SPRMEABSHE (UL94V-0 EALS) / Flame-resistant ABS UL94V-0 F43a— )L L— / Charcoal gray
4 | HRH Y / Gasket 1 21JarI L / Silicone 7594 / Black
5 |EFER(NAUK M3x8) 8 ATULR miunE
Screw (Binding head M3 - 8) Stainless steel Unfinished

4
2
5
BT =HILT—% / Technical Datall
fREEZEHR / Protection class : IP67 i}
{#EFR;EESHE / Operating temperature : ASA -10°C ~ +55°C
ABS -10°C ~ +45°C
#E{ThILY / Recommended torque e
$1/\— / Top—cover fastening : 0.45N=m ~ 0.55N-m TAKACHI| XSt hFEHITE IP67[HIKAR S R @ G
£ 47 / PCB mounting : 0.2N*m ~ 0.3N+m TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX ——
/A d Checked IR /Created | 1% /Prod b R=/Scale
/18 (BUFREDO) / Color Type (End of product number 1) x pprove HREY/Checke BB/ Create #/Product number
85 / Code £ / Color ME / Material ] WP20-28-7
G RITA T L— / White gray ASA#AE UL94HB / UV-resistant ASA UL94HB iR FH 1% H : 1/ 4
c Fv3—)LY L — / Charcoal gray | E#KIEABSHIAS (ULI4V-0 EFSY) / Flame-resistant ABS ULI4V-0 ERLE /Date 2019/09/19




280

65

232.7

20

45

3.25

200

152.7

J

4-R24

4-R0.5

3.25

A-A(1:3)
<
® o & P PAN
O
F
3.5 58.5 3
N
11 = s = P E
N
(=} ¢
5 IH 5
O
@ ° ® ° &)
A /Title
TAKACHI| #ASHANFERIE IP67RKRY IR @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked #1[X|/Created #F /Product number RFE&/Scale
WP20-28-700 13
iR ESZN) EH s ) 4
YERL B /Date 2019/09/19




My T H/8— / Top cover

4-R24
200

152.1 4-R0.5

280
232.7
—

20

o
S
1.5
35 16.5
5
15.3
45—k / GATE

8-M3A Y —hFuh
8—-M3 Insert nut

168 8-M2.6 F E AR BN ff7R R
8 8-M2.6 Boss 186
nWM
W &
] | I
175 154
L. i
2= 8§ C 8 2
6 2-210
,JFp
AR I
w
& I EE}
- 162
8-22.8
162
HREERBEK * RELTOEEA
Recommended PCB dimension * NOT SUPPLIED
A /Title
TAKACHI| #REHINDFERIE P6TRE kAR X @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked #1[X|/Created #F /Product number RFE&/Scale
WP20-28-700 -3
iR ESZ S 1 H 3 ) 4
{ER{ B /Date 2020/12/9




—

7" +1— / Bottom base

4-MAF S ERER 7]
4-M4 Mounting hole

4-R24
E-E(1:3)

—
Ll
252

¢5

2-MAFA Y —Mryb (K =LY PWPMB-M4-2B2 {3 FR)
2-M4 Insert nut for Pole mounting bracket (WPMB-M4-2)

©
200
< E
(o o o ©)
&
o
S e
F @
%3 el & oS %
<— E
F-F(1:3) $6.5
i 2= T
3.25

3.25

3.5

6—-M2.6 Boss 188
136.5
35.5 117 35.5
— —
T e L) = TTEUTTT
5 {i,nq e B
175
O 4212
sed 2 2 23 o -
IN 5 N N — ~ N
6.5 6.5
@)
(C10] .t
= 19 L © o
-\Gi_(}l 43\ Ii <)_i55~.. / 8 1 Y f
@ﬂg ! i I! EI_\:W -1 N R S
153 153 4-R3
6-22.8
HEREEMmBIK * RFELTLEEA
Recommended PCB dimension * NOT SUPPLIED
A /Title —
TAKACHI] #RXSHANTFEHRTE IP6TRS kA4 2 O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
AR/ Approved 18X /Checked #1[X|/Created #F /Product number RE/Scale
WP20-28-701 13
iR ESZ S 1 H 4 4
{ER{ B /Date 2019/09/19




	WP20-28-7
	WP20-28-7 Model (1)
	WP20-28-7 Model (2)
	WP20-28-7 Model (3)

